Subject: Hidden process for init (PID 1)?
Posted by signalll on Mon, 15 Dec 2008 09:05:17 GMT
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I'm trying to detect hidden processes within a container (no, you don't need a kernel module to
hide a process.. trojan ps and top go a long way already).

I'm aware that OpenVZ already has a hidden process for every visible process in the container,
and that there's an offset of 1024 in PID between hidden and visible processes, which allows to
identify the legitimate hidden OpenVZ processes.

However, there remains one unaccounted hidden process (i.e. no visible process at hidden PID +
1024). On the other hand there's no obvious hidden process candidate for init (PID 1). Is it safe to
presume that the unaccounted hidden process is the one corresponding to PID 1?

Page 1 of 1 ---- Cenerated from OpenVZ Forum


https://new-forum.openvz.org/index.php?t=usrinfo&id=3181
https://new-forum.openvz.org/index.php?t=rview&th=7034&goto=34219#msg_34219
https://new-forum.openvz.org/index.php?t=post&reply_to=34219
https://new-forum.openvz.org/index.php

